
WORD

Six horses were entered in the 2.30at Derbyville today. Three of the horses
were fillies andthree were colts (one of whichwas Mister Magic). Can you
match the horses andriders and work out whereeach horse finished?

1. The horse ridden by Kelly didn'tfinish last. Theone ridden by O'Shea
wasn't first but finished immediately aheadofBirthday Boy.

2. The txxse that finished last has a name which starts with the same initial
as the colt (ridden by Riley), who didn't finish fourth.

3. Lucky Lady finished some way ahead ofthe colt Jones was riding.

4 Likely Lad finished some way behind the horse ridden by Davis whose
horse finished two or three places ahead ofBonnie Lass.

S. Golden Girl finished either three places ahead orthree places behind the
one ridden by Murray.

Horse Jockey

Nov. 5 2008

SEARCH: Election Losers
KERRY
GORE
DOLE
BUSHSR
DUKAKIS
MONDALE
CARTER
FORD
MCGOVERN
HUMPHREY
GOLDWATER
NIXON
STEVENSON
DEWEY
WILLKIE
LANDON
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